BRAINWARE UNIVERSITY

Term End Examination 2021 - 22
Programme - Diploma in I leetrical Engincer ing
Course Name - ¢ ommunicative English [1
Course Code - DEE201
( Semester 11)

Time allotted : 1 Hrs.25 Min.

Full Marks : 70
[The figure in the margin indicates full marks.]

e Group-A

(Multiple Choice Type Question)

1 x70=70
e following :

Choose the correct alter native from th

(1) The girl knew that he
a) cannot
¢} do not

cook well.

b) must not

d) had not
(2) Choose the correct statement:

2) It cost the management 10 crores 1o

built the hosp
ital.

b) It cost the management 10 crores to build the hos
pital.

¢) It cost the management 10 crores to building theh  d) It cost the management 10 crores for build the hos
ospital. pital

(3) Reading of good books is a healthy entertainment, Here, ‘Re

ading’ is a
a) Infinitive

b) Superlative

} Gerund d) Participle
(4) Each of these boys intelligent
a) is b) are
c) was d) were
(5) He asked me if | the book.
a) nor read ' b) can read
¢) had read d) not read
(6) The captain with all his men, drowned.
a) was b) were
c) are d) will
(7) What is the price you can take?
a) little b) less
c) few d) least
(8) In the Middle Ages, people ..... travel by plane.
a) have not b) can't
¢) had to d) couldn't
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(9) Her book is ------ the table. garee
8 b) on
¢) up ot i ighbours?'
(10) Fill in with correct preposition: 'Why don't you complain _ your noisy nelg )
a) for b) against
c¢) with d) to
(11) Ironis ___ useful metal.
a)a b) an
c) the d) none of these
(12) Mahmood (study) since 7 o'clock in the morning. Fill in with the correct form of the ver
b.
a) studies b) was studying
c) had studied d) has been studying
(13) He was negligent in ____ work.
a) him b) his
¢) he d) hers
(14) The full form of e-mail is mail.
a) English b) Electric
c) Electronic d) Electron
(15) I came her at a party.
a) from b) along
c) belong d) with
(16) I was in the bath when the telephone .
a) ring b) rang
c) rung d) ringed
(17) They lived here, they?
a) aren't b) haven't
¢) weren't d) isn't
(18) The situation calls a quick action.
a) into b) in
c) for d) up
(19) He for ten minutes only.
a) spoked b) speak
c) speakened d) spoke
(20) He was worn out at the end of the day. The word closest in meaning to ‘worn out’ is -
a) successful b) exhauted
c) lost d) dehydrated
(21) I maintained my cool in spite of his provocative behaviour. ‘Provocative’ means -
a) Tempting b) Insulting
¢) Disrespectful d) Inducing
(22) The Board of Trustees upheld the Principal’s decision. The opposite of ‘upheld’ is -
a) abolished b) opposed
¢) undercut d) maintained
(23) He seldom speaks to us. The opposite of ‘seldom’ is -
a) always b) rarely
¢) often d) never

(24) Letterhead is aligned always at the
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a) centre i b) left

¢) down d) right

25) I'm sorry I took you your brother, you’re so much alike.
a) from b) for
c) by d) off

26) Eating too much is injurious to health. The mood of the verb is -
a) indicative b) imperative
c) infinitive d) subjunctive

27) At the polling station some people came

foot
a) on b) at
¢) of d) by
28) They have been sleeping ------ 8.30 p.m.The word in the blank should be -
a) from b) since
¢) with d) on

29) The government was determined to push the legislation
a) through

b) in
¢) until d) unless
&) I could not get a seat in the bus, I came early.
a) as b) though
¢) when d) if
31) had I taken my shoes off I found out we had to leave again.
a) no sooner/than b) rather/than

¢) whether/or d) either/or

32) All deserted me when I needed them the most. The word
a) helped
c¢) abandoned

'deserted' means -
b) approached

d) dependent
33) The bus ride is free! You buy a ticket.

a) must not

b) does not

c) don't have to d) need to
34) 1 to the doctor yesterday.
i‘-?-”%a) had to gone b) must had gone
“~“c) had been gone d) had to go
B5) is the cause of most nervous diseases.

a) A fear b) The fear

c) Fear

d) Feared of
36) The government is determined to put a stop to all forms of

a) wastage
c) the wastage

37) He is so weak he cannot work,

b) a wastage
d) wastages

a) therefore b) that
c) too d) very
38) The University is located —____ Barasat in West Bengal.
a) in b) on
c) at d) but
:39) They have been sleeping ------ three hours. The word in the blank should be -
a) from b) for
¢) with

d% on
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(40) The boy--------- speak German fluently when he was young. ”r:":"’i’:«\hﬁ 10‘51?3

a) can b) could Parecbi

Gy Heen d) might
(41) Owing ______lack of time, we cannot do more than what we have done.The word in the blank sh

ould be
a) of b) to
c) above d) about

(42) Kalidasa is greater than any other Sanskrit poet. The degree of the adjective in this sentence is

a) positive
¢) superlative

b) comparative
d) imperative

(43) If she were in London I could have met her. The mood of the first verb is -

a) Indicative
c) Infinitive

(45) Where
a) are
c) do

(46) to London by train yesterday?

a) Did Mary went
¢) Mary go

(47) Alice enjoys ____the piano.

a) plays
¢) to play

not smoke.

Sarah live?

b) Imperative
d) Subjunctive

b) is
d) should

b) is
d) does

b) Did Mary go
d) Mary goes

b) playing
d) played

“48)" is she?" "She's my friend from London"

a) Who
¢) Which

(49) "Humpty Dumpty sat

a) in
c) at

(50) Do not smoke here. The mood of the verb is -

a) Indicative
c¢) Imperative

(51) This particular work

a) have
c) are

be done now,

b) Why
d) What

b) on
d) upon

b) Infinitive
d) Subjunctive

b) has
d) will

(52) They had seen happier days. The degree of the adjective in this sentence is -

a) Positive
c) Superlative

(53) She came ~-------===n==me-

a) in
c) on

b) Comparative
d) Imperative

b) at
d) up

(54) The sun rises in the East. Identify the Mood of the sentence.

.a) Optative
c¢) Imperative

(55) They like to eat fish. The infinitive is:

b) Subjunctive
d) Indicative
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b) like to

1) Thegss d) eat fish
c) to eat
(86) Johnny is Axeaszsessbo sy st et b) fun UBFFT?:{ jof
3 E:Z‘Iz\'ing d) alt of these &:’:ﬁ {;&:m 00N D
(57) If they shut down the plant, lots of pcople their jobs.
a) lost b) are losing
c) will get lost d) will lose
(58) Vegetables are costly nowadays.
a) only b) never
¢) purely d) much
(59) I caught him the neck.
a) for b) with
¢) by d) from
(60) The fields by the farmers.
a) is ploughed b) was ploughed
-~ c) are been ploughed d) are being ploughed
161) The function had started when the electricity failed.
a) severely b) hardly
c) sincerely d) heavily
(62) He is miser he is rich.
a) still b) until
c) though d) so
(63) Mr. James will come the next month.
a) from ' b) for
c) since d) by
(64) The stadium is located _ in West Bengal, near Kolkata.
a)in b) on
¢c) at d) all of these
(65) Gerund isaverbplus ...................
£ a) noun b) verb
i ¢) adjective d) adverb

(66) Due to - a Jack of production ---- increasing housing prices, Liverpool is now ranked as one of
the least affordable cities countrywide. -

a) neither/nor b) no sooner/than
¢) scarcely/before d) both/and
(67) Mike has been told he will have to pay the fine ---- his high rank in the military.
a) even if b) further more
¢) on grounds that d) despite of

(68) ---- the Oscar Reward, the Cannes Film Festival is the biggest event which takes place in May in
the South of France.
a) Except for b) Such as
c) Lest d) unless
(69) The inhabitants of our village claim that pedestrians have no choice but to risk their lives crossin
g the dangerous road as there is ---- a pedestrian bridge ---- a crosswalk,
a) either/or
c) lest/for

b) neither/mor
d) not only/but also
Page 5 of 6



(70) S
/4) Some people beli
elieve vacci :
ceines overload our immune system, making it less able to react
to othe
T

diseases :
---- meningitis or AIDS, whi
3 itk eisin of S, which are now threatening our health.
&) but for b) such as
d) where as
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